

f

0

1

MATHEMATICS - IIA THEORY OF EQUATIONS 0 1

Χ

THEORY OF EQUATIONS

<u>Ju</u>

1) Solve the equation
$$2x^5 + x^4 - 12x^3 - 12x^2 + x + 2 = 0.$$

Given Polynomial $\partial x^5 + x^4 - 1\partial x^3 - 12x^2 + x + 2 = 0$.
Given Polynomial is verifyoral of class two then -1 is one boot
 $-1 \left[\frac{2}{0} - \frac{1}{2} - \frac{12}{1} - \frac{12}{2} -$

$$\frac{1}{\sqrt{2}} = \frac{1}{\sqrt{2}} = \frac{1$$

THEORY OF EQUATIONS

$$\begin{aligned}
\gamma &= \frac{3\pm\sqrt{5}}{2} \\
\chi &= 2 \\
\chi$$





THEORY OF EQUATIONS $\mathbf{\Lambda}$ $f(a) = f(-P) = (-P)^{3} + 3P(-P)^{2} + 32(-P) + 14 = 0.$ f(a) = 0 $f(-x''_3) = (-x''_3)^3 + 3p(-x''_3)^2 + 32(-x''_3) + \delta = 0$ $= -7 - 3P \delta^{2/3} - 3E \delta^{2/3} + 8 = 0$ $-P^{3}+3P^{-3}-32P+8=0$ 2P' 32P-18=0. \$Po">= B20"3 (ii) Let the roots are in G.P. C. o. B.S $p^{3}y^{2} = 2^{3}y$ lie q. a, ab. $a=-P=)\overline{a}=-\frac{1}{p}$ $S_3 = \left(\frac{\alpha}{2}\right), \alpha \cdot \left(\frac{\alpha}{2}\right) = -\frac{2}{1}$ $\left(\frac{1}{10} \right)$ from case () a³=.1 $f\left(\frac{1}{2}\right) = f\left(\frac{-1}{p}\right) = \left(\frac{-1}{p}\right)^{3} + 3P\left(\frac{-1}{p}\right)^{2} + 32\left(\frac{-1}{p}\right) + 32\left(\frac{-1}{p}\right) + 32\left(\frac{-1}{p}\right)$ $a = -(x)^{1/3}$ $-\frac{1}{p_3} + \frac{3p_2}{p_2} + \frac{32}{p_2} + \delta = 0$



JM

3) Solve $18x^3 + 81x^2 + 121x + 60 = 0$, given that one root is equal to half the sum of the remaining roots.

Sol: Given equation
$$18 \times + 81 \times ^{2} + 121 \times + 60 = 0$$

Let α, β, β are the roots of equation (1)
one root is equal to half the string the remaining roots
 $\tau = \frac{\alpha + \beta}{2}(\alpha) \quad \alpha = \frac{\beta + \beta}{2}(\alpha) \quad \frac{\beta - \alpha + \beta}{2}$
 $2\beta = \alpha + \frac{\beta}{2}(\alpha) \quad \alpha = \frac{\beta + \beta}{2}(\alpha) \quad \frac{\beta - \alpha + \beta}{2}$
 $s_{1} = \alpha + \beta + \beta = -\frac{8\beta}{18} = -\frac{\alpha + \gamma + \beta}{2\beta - -\frac{\beta}{2}}$
 $\beta = -\frac{3\beta}{2}$

THEORY OF EQUATIONS $\mathbf{\Lambda}$ $(a-b)^{2} = (a+3)^{2} - 4ab$ $\alpha - \ell = \sqrt{(-3)^2 - 4(\frac{20}{6})}$ B = - 3/2 (x-b)= V (a+b) - 4ab 215=0+1 x-x= 19-80 $-\chi(3)_{\chi}) = \alpha + \delta$ $\alpha - \gamma = \sqrt{\frac{81 - 80}{6}} = \sqrt{\frac{1}{9}}$ The roots and Q-V= ± 1/3 =) Q-V=1/3 & Q-V=-1/3 X+1=-3]-(2)-4/3,-3/2,-3/3. art 1/= - 3 | Substitute at in 2. $S_3 = \alpha \beta 1 = -\frac{60}{18}$ - 4/2+8:-3 $d'(TA_{\pi}) = t \frac{60^{20}}{TR}$ x-1= 1/2 8= - 3A 4/2 22 = - 321/2 $\alpha' \gamma = f \frac{20}{9}$ 8=-5/2 20 = - 8/2 d=-4/2

Λ

THEORY OF EQUATIONS



4) Solve $x^4 + x^3 - 16x^2 - 4x + 48 = 0$, given that the product of two roots is 6.

Sol: Griven equation
$$\chi'' + \chi' - 16\chi'' - 4\pi i 4820$$
.
Let α, β, δ and δ are the roots
Griven that the floatest of two roots is 6. ije $\alpha\beta = 6$.
 $S_1 = \alpha + \beta + 1 + \delta = -\frac{1}{7} = -1$
 $S_4 = \alpha \beta + \delta = -48$.
 $6 + \delta = -48$.
 $6 + 6\delta + -8\beta - 8\alpha = -4$
 $6 (1+\delta) - 8(\beta + \alpha) = -4$

THEORY OF EQUATIONS Χ $6(1+5)-8(\alpha-1\beta)=-4$ x+B=-1-(++8) from 6(8+8)-8[-1-(1+8)]=-46(1+8)+8+8(1+8)=-4 Pize 14 (1+8)= -12 V+8=-12-



5) Solve $4x^3 - 24x^2 + 23x + 18 = 0$, given that the roots are in the A.P.

Sol- Given equation
$$4x^{3} - \partial 4x^{2} + 2 \partial x + 18 = 0$$
.
Griven the Yoods are in A.P.
i've and, a, and A.P.
i've and, a, and A.P.
Si = and + and + and = $-(-\partial 4)$
 $3a = 6$
 $a = 2$
 $3a = 2$
 $a = 2$
 a

THEORY OF EQUATIONS $\mathbf{\Lambda}$: The voots are -17, 2, 33. $J^{2} = \frac{25}{4}$ $J^{2} = \frac{1}{4} = \frac{1}{4}$ a=2 $=) \quad q - d = 2 - 2 = 2 - 2 = 8 - 2 = 5$ $= -\frac{12}{4}$ =) (2+3) = 2 + 25 = 8 + 25 = 334 = 4 = 4



Solve the equation $x^3 - 7x^2 + 14x - 8 = 0$, given that the roots are in 6) G.P. Griven equation $x^3 - 7x^2 + 14x - 8 = 0$ And the boots are in Grip $i = \frac{a}{8}$, a, a = 8. 50% a=2 $S_1 = \frac{q}{\chi} + a + a \delta = -(\lambda)$ atartar2=7. $S_3 = \left(\begin{array}{c} \alpha \\ \mu \end{array}\right) \left(\begin{array}{c} \alpha \end{array}\right) \left(\begin{array}{c} \alpha \\ \mu \end{array}\right) = -\left(\begin{array}{c} -8 \\ -1 \end{array}\right)$ $\frac{8}{2+27+27} = 77$ $27^{2} - 57 + 2 = 0$ $a^{3} = 8$ (³- ³)

Χ

THEORY OF EQUATIONS

 $2t^2 - 4t - 8t 2 = 0$ 2t(t-2) - 1(t-2) = 0(t-2)(2t-1) = 0Casein (i)a=2 $(i') = \frac{2}{3} = \frac{2}{3} = 1$ (i'') = 2 = 2 = 1

Case (1) 28=1 8= 1/2 (1) a=2 (ii) $a_{1} = \frac{2}{12} = 4$ (iii) $a_{1} = 2 - \frac{2}{12} = 7 = 7$ - The voosts are 1,2, 4.

X

7) Solve
$$x^4 + 4x^3 - 2x^2 - 12x + 9 = 0$$
, given that it has two pairs of equal
roots
Solt: Griven churchtin $x'^{+}_{+4x}x^3 - 2x^2 - 12x + 9 = 0$
Git has two Pairs of church tice (α, α) (β, β)
 G_{+} has two Pairs of church tice (α, α) (β, β)
 G_{+} has two Pairs of church tice (α, α) (β, β)
 G_{+} has two Pairs of church tice (α, β) (β, β)
 G_{+} has two Pairs of church tice (α, β) (β, β)
 G_{+} has two Pairs of church tice (α, β) (β, β)
 G_{+} has two Pairs of the tice (α, β) (β, β)
 $(\alpha, \beta) = 9$
 $(\alpha, \beta) = 9$
 $(\alpha, \beta) = -3$
 $(\alpha, \beta) = -$

THEORY OF EQUATIONS Χ Substitute q=-1 in equal) Solve (1) & 3) $(\alpha - \beta)^{L} = (\alpha + \beta)^{L} - 4 \alpha \beta.$ $-1 + \beta = -4$ X-1/B=--4 $(\alpha - \beta) = \sqrt{(-4)^2 - 4(3)}$ x-B=257 $\beta = -3$ $\alpha = \beta = \sqrt{16 - 12}$ 2x = -4+2V2 Caselin 0×=-2+57 $\alpha \beta = -3$ $\alpha - \beta = 2 - 2$ $(\alpha - \beta)^2 = (\alpha + \beta)^2 - 4\alpha \beta.$ Substituted in chr O-Solve (1) & () -2152+B=-4 $(\alpha - \beta) = \sqrt{(-4)^2 - 4(-3)}$ X+ A= - 4 \$2-2-57 $\alpha - \beta = 2$ (x-A)= V 16+12 2x=-2 x-P= 128 a-1=252 X = -1



Λ

THEORY OF EQUATIONS

8) Find the polynomial equation of degree 5 whose roots are the
translate of the roots of
$$x^5 + 4x^3 - x^2 + 11 = 0$$
, by -3.
NOTE: $f(x) = a_0 x^m + a_1 x^{m-1} + a_2 x^{m-2} + a_3 x^{m-3} + \cdots + a_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_3 x^{m-3} + \cdots + A_m = 0$.
 $f(x+h) = A_0 x^m + A_1 x^{m-1} + A_2 x^{m-2} + A_1 x^{m-3} + A_2 x^{m-3} + A_2 x^{m-3} + A_1 x^{m-3} + A_2 x^{m-3} + A_1 x^{m-3} + A_2 x^{m-3} + A_2 x^{m-3} + A_1 x^{m-3} + A_2 x^{m-3} + A_1 x^{m-3} + A_2 x^{m-3} + A_2 x^{m-3} + A_2 x^{m-3} + A_2 x^{m-3} + A_1 x^{m-3} + A_2 x^{m-3} + A_3 x^{m-3$

Χ

THANK YOU

f

0

1